Federal Board HSSC-II 2016
BIOLOGY (Revised Syliubus)
SECTION-A (Marks 17)

Time allowed: 25 Minutes

NOTE. - Section-A is compulsory. Al parts of this section

are to be answered on the question paper itself. It should

be completed in the first 20 minutes and handed over to

the Centre Superintendent Deleting/overwriting is not

allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/B/C/D.
Each part carries one mark.

{i) In Pakistan temperate moist
conditions are found in:

A Southern Sunjab
B Karachi
C. Swat
D Shogran
{ii)  Bilirubin is the break down product of:
A Purine bases B. Myogicbin
c Nucleic Acid D +Haemoglobin
{it'}  Whici: hormone is secreted when the
tevei of calcium increases in blood?
Cortisone 8. Thyroxine
c Pareti.ormore O Caicitonin

{ivl Wihich among the following is a short-
day plant?
a

Zucumber 8 Tomato
¢ Stawsery © Zatbage
‘v)  Which is NOT concerned  with
Arthitis?
Haematoma B Infiammation
C  Degeneiston D Giiffness

{vi) During deveiopment of d\lch ambryo
the nypcbiast formed in process of
gast. wiation is presumptive ayer for:
A Yotk sac R’ Ectoderm
9 Endouerm o iisoderm

(vii) Nucleosome in chromosome appear
like beads in a string. Each

nucleosome is made up
of ' nucleotides.

A 1000 B 150

c 200 (5 250

(viii) Which is the result of autosomal non-
disjunction?

A Jacob's Syrdrome
B Down's Syndreme
(¢} Kiinefelter's Syndrome
D Turner's Syndrome

(ix) Mendel laid the foundaticn stone of
classical genetics by formulating two
laws of inheritance. His work was

published in:
A 1866 AD B 1854 AR
C 1860 AL 15} 1865 °AD

(x) The cause of sickle cell anaem:a was
discovered by:
A Archibald Garrod

n-ingram
D Beadie and Tatum

(xi) If both mother and father are A and B
hetprozygous blood groups, then their
children can be with blood types:
A Al of the four blooc groups
8 oup cnly

G fOuURS only

D O groups only

(xii) MODY (Maturity Onset Diabetes of
Young) is caused due to the absence

of:
A Glucokinase B Isomerase
Lipas D Aldolase
ixiii) The plasmid PSC 101 contains
antibiotic resistant gene for:
A SulphonamideB.  Ampicilin
C  Tetracycine D Penicilin

(xiv) In a population that is at a Hardy-
Weinberg equilibrium 25% of the
individuals show the recessive traits.
What is the frequency of the dominant
allele in the population?

A 025 B 070
[ 050 D 075

(xv) The average annual rainfall in
temperate deciduous forest is:
v’\ 750-1500 mm B. 500 mm

750 mm D 500-1000 mm

(xvi) me term totipotent for plant cell was

first coined by:

A FC Steward

B William Bateson
C  Gamod

D Gotthieb Haberlandt
(xvii) The total available Fresh Water in the
form of lakes, streams and rivers on
the earth is:
1% 8 5%
Cc 0% D 2%

SECTION - B (Marks 42)

Q.2 Answer any FOURTEEN parts. The
answer to azch part should not exceed
3to 4 lines. (14x2=42)

(i) Define the following

Lithotripsy

o
& =
©
T

(i) Wrie down the funcion of the hoimones
a.  ihyoxine b, Cstrogen
c. Oxytocin

(ifi)  Name the bones of human cranium
(iv)  Define the foliowing

a.  Patherocarpyb.  Foliicle atresia
S Mencpouse
(v)  Define the following
a. . Embryonic induction
b,  Teratolegy
¢ Discudai cleavage

{vi) Write a bref note on Nucleosome
(vil) Write the 1mpo'lan‘ features of DNA -
Polymerase
(viii) Write a brief n"(e on Malagnant tumor
(ix)  Define the following
a. Epistasis b. Pieiotropy
c Linkage
(x) Wrtea brief note on Molecular carrier.
(xi) \What is endosymbiont hypothesis? How
does 't help in 2velution of Eukaryotic cell?
(xii) Dchne e following
Niche b.  Habiat

(xiii) Name three plants of temperate deciauous
“

forests
(xiv) Wha! s Predation? Wate its significance in
cosystem
(xv) What 's geotrermal ehergy? Why it is not
feas hle
(xvi) Deine the folowng
a.  Clmate b, Weather
c. Succ
(xvii) ¥ 500 Wiel? Dratw Food We

(xviii) Wrte names of excereary organs of the

anmals

b. Eantnwio

Note: Artamipt any TWO questions. Al
questions carry equal marks. (2-

nirogen cycle



